¢ blank pages.

raw diagonal cross lines on the remainin

Note : 1. On completing your answers, compulsorily d

Important

50, will be treated as malpractice.

luator and /or equations written eg, 42+8

2. Any revealing of identification, appeal to eva

10

o

: au\rifin details.
: (10 Marks)

Language model by /v (10 Marks)
What are the dlfferem Natural Language Applications? xplain, how NLP is used in these
applications? e (20 Marks)

Write a regular expressmn foi the following : 2
i) To validate the general email address for: e‘kk_,ﬁcational institutions of the form
abc@xyz.ac.in.
ii) To match the floating pomts numbers.
Explain Context Free Grammar w1fh an examoi

elther starts with 01 or end with 01 of a string

(10 Marks)
(10 Marks)

Draw a deterministic finite automata whlc}.‘

containing 0, 1 in it. ‘ (05 Marks)
Draw a non-deterministic finite autom thh either starts with 01 or end with 01 of a
string containing 0, 1 in it. Sty (05 Marks)
What is Morphological parsing Techmqnvs? ﬁxplaan with an example. (10 Marks)

Analyze the sentence “State Bank- of India is" located just near the bank of river Ganger”.
Using your understanding on sem.mtlc analysis. > < (08 Marks)
Analyze the sentence “This tree is illustrating« the <lependency relation” Using your

understanding on synthetlc Ana1y51s (12 Marks)
i) Apply unigram blgram, nd trigram models for the below sentences :

a) Manchester United is'a club in English priemere league’ )

b) [ am looking for a good place to eat Breakfast.

¢) When are we gomg to be free from COVID

d) Who is gemg t0 be a president of Australia

e) Syntactic analysis is a challenging process in NLP (15 Marks)
i) Explain parts Q?Speech tagging with an example. \ (05 Marks)
What is the: 1moortant of knowledge Roles and Domain knowledge? T \ (05 Marks)
Explain | how to generate text reports using annotation. < (05 Marks)

I:valuate sen explanation in iISTART using word matching, LSA and topic m@dels (10 Marks)

What - are textual signatures? Explain how to identify text type using latpm semantic

A"l’aiyﬂa to measure the cohesion of Text structures. _(20 Vlarks)
.~*E:xplam in details the classical model of information retrieval. v
i) Boolean Model (05<Ma}ggs)
i) Vector Space Model. (15 Marks) -
Explain in details of the classical model of information Retrieval. S
i) Set model (05 Marks)
ii) Probabilistic model (15 Marks)
EE I



